A £ 0l & AF & S

Al A

SA: AT
A NGDENLY MY SE(FEXXSNL/XSXCAI)
Chel: ERZRIGNS ALY (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
ol 20,579,078 10,283,056 10,296,022
= 10,194,704
Jl 46,000
= 2,939,388
Al 7,398,986
N EIHL Y tHHAY SE(REXXAMNL/XAKLTAI) 39,600 25,784 13,816
< 10,000
Al 29,600
SEEONEP] = pNgoe 32,600 15,864 16,736
= 10,000
Al 22,600
NS SOt & THAIAtY =X 12,600 15,8064 A3,264
201 Ler=23 | 1,000 1,000 0
01 At2teltl 1,000 1,000 0
O FL AR 2t2IH]
1,000,000& 1,000
202 04| 3,600 6,864 A3,264
01 =LHOHI 3,600 6,864 N3,264
OOIIMER B U & Y2 HO
00,0002 x3& *32|x4& 3,600
203 HR=H] 8,000 8,000
03 A=A =AY 8,000 8,000
OB U TIRIAY SXIAS =7
8,000,000& 8,000
CEME S 20,000 0 20,000
s 10,000
Al 10,000
307 @I2t01 & 20,000 0 20,000
[ 10,000
Al 10,000
02 2B HAHE L 20,000 0 20,000
OX0oPte EEnA 20,000
= 10,000
Al 10,000
SHERDINS 7,000 9,920 N2,920
AHADIHSE S 7,000 9,920 N2,920
202 04dl 6,000 7,920 1,920
01 2L AL 6,000 7,920 1,920
OurgelIts 2 g% g2
100,0002 x3E*2& x 102 6,000
203 gF=4| 1,000 2,000 21,000
03 A=A 2= 1,000 2,000 21,000
odgAIINs g2 =& 1,000,000 1,000




SA: AHE L
=N

A HZXSERL (&Y -S4 OllLA X1/ & aJlgeet)

ol XSO 2 HYAIYEA (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HZX SR (A - SAISRHUU X/ A - SA| et 85,200 7,224 77,976

=S 15,000
Al 70,200
KSS e o INLALH =2 85,200 7,224 77,976
== 15,000
Al 70,200
St gEAY =8 35,200 7,224 27,976
< 15,000
Al 20,200
201 er23| 31,000 1,000 30,000
= 15,000
Al 16,000
01 At2teltl 1,000 1,000 0
OXlgsior g =4 1,000,000& 1,000
03 A2 30,000 0 30,000
OEHE AIR! OFZCIOI JHE] 30,000
== 15,000
Al 15,000
202 04| 4,200 4,224 N4
01 =LHO LI 4,200 4,224 N4
OXlgsior g2 =4
100,000 *3Z 22 +73] 4,200
HBXNSHLI = S| HEl+E 50,000 50,000
207 ARl 50,000 50,000
01 18| 50,000 50,000
OHZ XIS S&I| HE+8 89
50,000,000 50,000
OIUXIXHR OHY - Eg2el (&Y - SAIIS KUK/ X 16,301,104 4,783,308 11,517, 7%
EPUEIBIETY
= 7,905,625
Jl 46,000
[ 2,419,004
Al 5,930,475
ORI =22l 159,998 748,778 588,780
= 5,625
Il 46,000
= 21,004
Al 87,369
fuxaes 2s = 1,550 2,500 2950
201 er23| 1,550 2,500 2950
01 AtR2t2|HI 1,550 2,500 A950
OllHXIZS 82 S5 M
50,0002 40H 200




2A:

X XH -
o=

algzamni;

HIUXIRER JHY - 22l (A - S LUK/ AL XIZL KO0 L)

OIUXIRHE =g2L

29: (Erel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OuuUXIZe 2288 7Y
3,000 *450H 1,350
A - HIIAE NS K& 1,774 12,794 A11,020
= 532
Al 1,242
403 AXIEHMSAH=201H 1,774 12,794 A11,020
== 532
Al 1,242
02 S 2SS0t et =& 2 €A H| 1,774 12,794 A11,020
OMASE =FHIIAIE WAL (200H2) 1,774
< 532
Al 1,242
ATHAOE X XIS X2AS 21,500 205,145 183,645
201 et23| 19,400 31,700 A12,300
01 At22te|Hl 3,500 800 2,700
OATHANU X SRFA 3,500,000 3,500
02 S3=gHl 15,900 30,900 A15,000
OLMEUHUHXIEH S52= 15,900
SATHEHUHRIZH AWES &3
50,000& * 122 600
oA IHAMUHRIEH AUHESE SRS
25,0003~ 122 300
SATHEUUR 2HAAE =21
15,000,000& 15,000
202 04| 2,100 2,640 AB40
01 =LHO LI 2,100 2,640 2540
OATHAOIH X 2ted FRFE 04|
100,0003 *3& +73] 2,100
LPGEII ALt AIEIHE AL 12,250 14,55 2,306
= 5,625
< 1,687
Al 4,938
202 04l 1,000 1,056 A56
01 2LHoIH 1,000 1,056 56
OJAAE 2UNE 82 g2
100,000& x2& #53] 1,000
403 AXIEHMSA=Z0l1d 11,250 13,500 A2,250
= 5,625
= 1,687
Al 3,938
02 SIS0t =22 P E A I 11,250 13,500 N2,250
OLPGE | AFEIt7E AIEHE A 11,250
= 5,625
& 1,687




2A:

X XH -
o=

el EERE)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
| Al 3,938
HASE 2 AMSISXIAIE LEDS WHM(HEEE SHAA 80,000 40,000 40,000
2)
| 46,000
& 7,200
Al 26,800
401 Al&HIZ 20| 80,000 40,000 40,000
| 46,000
& 7,200
Al 26,800
01 AlEHI 80,000 40,000 40,000
OMASSE LEDS WA 30,000
J| 21,000
& 2,700
Al 6,300
O=XA4 LED WA 50,000
J| 25,000
& 4,500
Al 20,500
AITHAOI LA X ==ERKIR AL 36,871 32,690 4,181
& 11,063
Al 25,808
402 SI2ER=01 36,871 32,690 4,181
& 11,063
Al 25,808
02 QIZEXH2 A 22 (01 &) 36,871 32,690 4,181
O-ITHAHOILA X F=EAXI2 AL 36,871
= 11,063
Al 25,808
MBS JIAAIE (U2 E) 1,740 2,700 A960
& 522
Al 1,218
403 XX SHHSA=01H 1,740 2,700 A960
& 522
Al 1,218
02 ST 2 SOHER=2ERIEAIS I 1,740 2,700 A960
OMASE 1Y It JACKEIIHD| B2
=& 1,740
T 522
Al 1,218
feld HMIIM=S At 4,313 4,313 0
308 AHXIHM SO & 4,313 4,313
13 I 2 SOIHEHE & A2 AL I 4,313 4,313




2A: D
B HURINE Y - 2SRRI - SAIIALOER/ KL IR K2 )
Sl HUHXIXE =2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
|| O=2zzlImzE A 4,312,508 4,313
DI A EAYFEHT AIIET 73,000 0 73,000
ol Eu £ 73,000 0 73,000
207 AN H| 73,000 0 73,000
01 ¢t 73,000 0 73,000
OHEIIHMZEAYA ST EIEM HE
73,000,002 73,000
X% Obxl RI2 16,068, 106 4,034,530 12,083,576
2 7,900,000
= 2,398,000
Al 5,770,106
AT A YE B2l 49,106 68,266 A19,160
101 Q14| 20,640 20,880 £240
VBIETEESV=TRS 20,640 20,880 £240
Oyl 221 24 20,640
SEE 59, 1602 1 24x2482 14,672
oFgag 50, 16021+ 124x522 3,077
SERENE 50, 1602+ 124+ 112 651
o 2HALH| 50002 +124x2482 1,240
SHEEIIHI 500,000+ 124231 1,000
201 Lere ] 8,465 7,386 1,080
01 Al 22lb| 2,000 2,000 0
OslzEstR 2,000,0002! 2,000
2 222 6,466 5,386 1,080
O®IIR2 480,002 122 5,400
O*&E23 80,0002 1228 960
S| 8,8002 10+ 128 106
401 Al HI L2 H) 20,000 40,000 20,000
01 Al&H 20,000 40,000 20,000
OSIYE AES THIBA 20,000
ARATA AT 48,000 0 48,000
= 28,000
Al 20,000
201 Lere | 28,000 0 28,000
= 28,000
03 A2 28,000 0 28,000
O&N LTS 28,000
= 28,000
401 Al HI L2 H) 20,000 20,000
01 Al&H 20,000 20,000
O/IYH BAH EHI0| B2 S22 T 20,000
EEEIEE Y 3,000 4,224 A1,224




SA: AHE L

M NUXIXRE WY - 2322l (A - SAIILLUUEXI/ HIH XL RO
1
s

Rl BZAS IR A (CHol: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
202 04l 3,000 4,224 N1,224
01 =LHAHI 3,000 4,224 A1,224
OnERe YLEX
100,000 *3Z 22 +53] 3,000
MATAIRIEE A8 (EXIE) A 15,800,000 3,002,040 12,797,960
= 7,900,000
= 2,370,000
Al 5,530,000
401 AIZHIX S0 15,800,000 3,000,000 12,800,000
= 7,900,000
< 2,370,000
Al 5,530,000
01 Al&H| 15,800,000 3,000,000 12,800,000
O=2MATARGE 53 At 15,800,000
= 7,900,000
< 2,370,000
Al 5,530,000
B2 A B AL X 100,000 20,000 80,000
201 er23 | 20,000 0 20,000
03 ALY 20,000 0 20,000
OXNENMY SUAD STH Sy A
20,000,000& 20,000
308 XM SOIE 80,000 0 80,000
07 HXHH 2L RE5S 80,000 0 80,000
ougtel= HAXS SAF MEE CHR IS 80,000
sMEEARIIEE A= K& 18,000 0 18,000
307 212+01& 18,000 0 18,000
02 2B HAHE L 18,000 0 18,000
OJ18= =8 ¥ 0EX 4 At 18,000
EHERAl AEHAHE A JISEE BE 50,000 0 50,000
207 ARl 50,000 0 50,000
01 A1E4H| 50,000 0 50,000
OEHHAl SEHAY A JIS 2= & E&
stz Ay 50,000
;L'_J.\_IH KON (A - SAILLUUX/MHEE - DES} 4,000 4,224 N224
AT AN & 25 4,000 4,224 N224
EAE 2 Mt EEAg Jlgxy 4,000 4,224 224
202 04| 4,000 4,224 N224
01 2L A 4,000 4,224 N224
O34 28 Mty MY Jlgtxy
22 g2 100,000& x2EH x22 103 4,000
3ol 2tel(&2/U1) 3,959,498 5,306,130 1,346,632
= 2,284,279




SA: AT
. dgzol 22(&3/U21)
el Oio1d 2l (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 495,384
Al 1,179,835
o1& 2el 3,959,498 5,306,130 A1,346,632
= 2,284,279
== 495,384
Al 1,179,835
HIISAH ESAHE 2,39%,200 2,953,000 A557,800
= 1,470,000
=S 261,600
Al 663,600
402 2I2F X201 & 2,39%,200 2,953,000 557,800
= 1,470,000
= 261,600
Al 663,600
02 QI X2 AL E (01X THE) 2,39%,200 2,953,000 A\557,800
OTIINSRHEE) 720 XA 825,600
= 480,000
= 96,000
Al 249,600
OIS B EAE) T0H X2 1,569,600
= 990,000
= 165,600
Al 414,000
SIS NAMBAIL (=2 Z R ZIIHA X&) 544,200 1,332,220 /788,020
= 270,750
= 81,225
Al 192,225
201 er23| 2,700 2,700
01 At2teltl 2,700 2,700
O™ SIS MBAY s 2 82
= M 200,000 *62] 1,200
OL2E R ZIIHI HR2UY ===
3,000 +500CH 1,500
402 BIZHAHZ0IA 541,500 1,332,220 AT90,720
= 270,750
s 81,225
Al 189,525
02 QI ESASEZ(0IETHR) 541,500 1,332,220 AT90,720
OZ2IRA RIIHX X (5S52)
1,600,000 *107CH 171,200
= 85,600
=S 25,680
Al 59,920




SA: AT
. dgzol 22(&3/U21)
Celr o= 22 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=sdsx ZIIHX NA(4S3)
3,700,000 *90CH 333,000
= 166,500
[ 49,950
Al 116,550
O=SBKA ZIIEHT X2 (2A4I1)
3,730,000 = 10CH 37,300
= 18,650
< 5,59
Al 13,095
01210l SSXtEel LPGRH &k X3 AL 5,000 21,000 216,000
= 2,500
== 750
Al 1,750
402 QI>F X201 & 5,000 21,000 16,000
= 2,500
== 750
Al 1,750
02 QI EASEX(0IETHR) 5,000 21,000 216,000
OO0 el0l Stxte LPGRE &k X3 At
5,000,000 = 1CH 5,000
= 2,500
== 750
Al 1,750
ST ENAN AL (BFASI HAMZEX 2= 66,000 42,900 23,100
)
= 33,000
== 9,900
Al 23,100
402 2I2E X201 & 66,000 42,900 23,100
= 33,000
=S 9,900
Al 23,100
02 RIENEASEZ(0IETHR) 66,000 42,900 23,100
OB RSt HANZBEX 2=
3,300,000 +20CH 66,000
= 33,000
= 9,900
Al 23,100
SIS OA T ZAIS (DA AT WA ) 99,000 115,500 16,500
= 59,400
= 11,880
Al 27,720
402 2I2F X201 & 99,000 115,500 16,500




SA: AT
. dgzol 22(&3/U21)
Rl UoIE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 59,400
=S 11,880
Al 27,720
02 RIINEASEZ(0IETHR) 99,000 115,500 16,500
OAEIA AWK 16,500, 0002 ~6CH 99,000
= 59,400
= 11,880
Al 27,720
2T HIEIA HZAL (=2 X SRME S AIAE 50,000 0 50,000
25
2 25,000
< 7,500
Al 17,500
401 Al HIZ S OHbI 50,000 0 50,000
= 25,000
= 7,500
Al 17,500
01 AlZH| 50,000 0 50,000
C2X =M ALY 2= 50,000
= 25,000
= 7,500
Al 17,500
ST ST PEAH(SSSHI) 8,040 5,600 2,440
201 eer23y| 6,600 5,600 1,000
01 AtR2t2|HI 3,600 3,200 400
OXIINSAt S8A 222 H2U =
+2 ,000& %43 3,600
02 35244l 3,000 2,400 600
OMIIns, StL=a 250,000 122 3,000
202 04l 1,440 1,440
01 2LHoIH 1,440 1,440
OISt S-S SHEL
10,0002 x2& »62]x 123 1,440
OIMIZA SHUHE HBZAIXE ALY 388,000 394,000 26,000
= 194,000
= 58,200
Al 135,800
101 @124H| 351,000 357,000 26,000
= 175,500
< 52,650
Al 122,850
M ORIMZZ2NSE S 361,000 357,000 26,000
ODINIEAl ZAIE 2 el2d| 351,000




SA: AT
. dgzol 22(&3/U21)
Rl UoIE 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 175,500
=S 52,650
Al 122,850
201 2= 37,000 37,000 0
= 18,500
= 5,550
Al 12,950
01 At 2|l 30,000 30,000 0
OOINIZX ZAIE 2 A 30,000
= 15,000
= 4,500
Al 10,500
02 S3=gHl 7,000 7,000 0
OOIMHAI ZAI018 =2 &= 7,000
= 3,500
= 1,050
Al 2,450
SAIUIIEE A 2d20c 36,000 36,000 0
== 10,800
Al 25,200
201 2= 36,000 36,000 0
< 10,800
Al 25,200
01 Al22t2lH] 2,000 12,000 0
OSATIIZEA 2B (ZFEY 42
2 A 12,000
= 3,600
Al 8,400
02 S3=gHl 24,000 24,000 0
OZAIUIIEE A 222l (2e82H]) 24,000
== 7,200
Al 16,800
HII0IEX 2ESAY 32,000 36,960 A4,960
= 16,000
== 4,800
Al 11,200
402 2I2E X201 & 32,000 36,960 A4,960
= 16,000
= 4,800
Al 11,200
02 RIENZASEZ(0IETHR) 32,000 36,960 4,960
OXIINSIHOIEASAL) F0H X 32,000
= 16,000




od
i’
o
uJ

S S S S 5 5 S S8 S
S S S < < < N o 3
K0 < < <
E
=]
S S S 3 3 3 S 8 8
S S S = = = @ o o
Wi3r
I
RIS
238N 38383833838 8383388 BRR2IY|IBBRIAOPKIS S I IS SIS 88883
OO N[O O O OO O O O|o o O O O O O ™~ OO © ~ OO S O© ~ ©
~Clgesdlgoedlg gogn S s  —|d s =S & =
(aV] [aV] [aV]
ar
<
S
W=| muW=| muo= oW o= W= T R T B T =
= =
o o
o o
oir
w0 g _8
: : g8
: ] o) A4
= i &
It W = @ o o M
E3 uTM_ Al wm___o )l wmu._
. T = R, = R
= s a = s ¢ i s 5
= K Jo <5 N K
Hlom 1 H oy X0 EN. i) oo«
oF 2 ] 3 = ”) 3 m ol L] 3y
o I il W W 0 W) W i il N
= H = = R = = =~ <l = = 00
i, [=¢ Al IR RO 5 % Ko el A LY
RO o o) m_% 7 o) m_% = o) sl 5
. = N N = N al 00 oV N
% 3 g S KD < © R0 < -
I+ <+ H ~




SA: AT
M ToEd 25(8d/4H)

Rl JISHIIUNSE R (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Xoistd S5 (8d/Xe) 10,600 137,536 A126,936

= 4,800
Al 5,800
JIZEsiisgR 10,600 137,536 A126,936
= 4,800
Al 5,800
JIZXTAM BAZRIEN 23 K& 7,600 7,036 564
= 3,300
Al 4,300
202 04l 1,000 1,056 A5B
01 2LHoIH 1,000 1,056 56
OJI=8s HSe? =X
100,000& x2& #53] 1,000
301 EetE2 N = 6,600 5,980 620
= 3,300
Al 3,300
14 0Bt 2as 6,600 5,980 620
OEAZOIE OIMEIE K& 6,600
= 3,300
Al 3,300
NSAH SHAZOIEN 29 3,000 2,500 500
= 1,500
Al 1,500
301 EtE N = 3,000 2,500 500
= 1,500
Al 1,500
14 0Bt 243 3,000 2,500 500
OXNsSAt BBAZQIER 23 3,000
= 1,500
Al 1,500
HY 2L A (LS ) (DIEHIIE 29,076 18,850 10,226
=]l 29,076 18,850 10,226
Jl=23H| 29,076 18,850 10,226
201 er23y| 24,336 15,400 8,936
01 AtR2t2|HI 22,176 14,400 7,776
ORAMEg JI1=28Hl 200,000 * 122 2,400
OARES 7Y 200,000« 12 <25 4,800
S 223 7
200,000 x128*25 4,800
OHIAMRINI A2F 2¢
240,000 x 122 2,880
O=gtl 8,000 x 192 *43|x 12 7,296
2 S22l 2,160 1,000 1,160




SN A
M XN
=
=

29l Jl=3l (crel ®2l)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=YRER= 180,000& «12& 2,160
202 04l 1,140 950 190
01 =LHOHI 1,140 950 190
Otla2 = 2L
20,0002 x19H+33] 1,140
203 =4l 3,600 2,500 1,100
M FA2ELRFAI 3,600 2,500 1,100
ORKNSgERF=AHI 300,000 * 122 3,600
HWReS(AY - SAILLUU X/ HXI K AH2KE) 150,000 0 150,000
W XIS (&) 150,000 0 150,000
LHEHRH RIS (A1) 150,000 0 150,000
RJ1sdEs 150,000 0 150,000
01 JIsdEsS 150,000 0 150,000

OZEHAA E=st JIi= 150,000,000 150,000




